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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Problems of Indian Economy - 1

(Both Medium)
NOTE: All Questions Are Compulsory
= AsH : 1 ALYl

= Unit: 1 Planning
1) Alxoto{l s Uctl N2 A g ?.eUR {2 Boto{l 2o Uotl AUNLAL

e What is Strategy of Planning ? Explain the Strategy ofIndian Planning.

2) el L2 0 oto{l RUEAN wa HATERAAL Al 53,

o Describe the Achievements and Limitations of Planning in India.

= AsU : 2: ARl WEs Yurrl ua ol[Axl

= Unit: 2 : Economic Reforms and Policies
1) AURAML 19914l A w5 YulRIAle] Yeauisel 53U,

Ul - AURAHL 199141 A s YuRvlle(l REAVN wa H2ATEA %Il

e Evaluate the economic reforms done in India. (OR)
o Discuss the achievements and Limitations of Economic reforms 1991 in India.

2) @lRdell adutet (1991 ofl) WAOLs o{llde] HYeUIset ( SLAEL Ao ARGLAEL) 3.

e Describe the advantages and disadvantagesof India’s Current industrial Policy.

— AU : 3 AHAA oA

= Unit: 3 Federal Finance
1) GURAML Sos Ul AR LAl olRQUESl2 Usllell AU 53A.

e Discuss Financial Issues Central - States in India.
2) ALEHL allRIU A s8N Ual BHel cddl.

e Describe the Scope and Recommendations of the Fourteenth Finance Commission.

= AsH : 4 AUl - CURcAHL ellaatiRue{l AHRU

> Unit: 4 :Inflation - Problems of Price - rise in India
1) GURcloll ellelaltliRl 2 FelOlElR HOYZd U wAYLd WRanle(l uAl s3.

o Explain demand pull and Cost push factors are responsible for price rise in India.
2) AlRclHl eltacteRpuell QY AR (AN ol el

e Write note on Various effects of price rise in India.
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Statistics (English Medium)

NOTE: All Questions Are Compulsory
UNIT 1: INTEGRATION AND ITS APPLICATIONS

(1) Define Integration and state its rules.
(2) Define definite integration and state its properties
(3) Evaluate following

(0 J(Bx*+4x3 —5x% + 3x)dx

(ii) J(x%—1)%dx

(iii) S (3vX + 5 +2) dx

(iv) [2* + %e‘x +§— %dx
W f(5)ax

() J o

(vii) f:(xz +x — 1)dx

(viii) f_11(2x2 — x3)dx

(ix) folx(l — x)%dx

5 Wx
(X) fO mdx
(4) The marginal cost function of manufacturing x units is 6 +10x - 6x2.The total cost
of producing a pair of two units is Rs. 12.Find the total cost function and average
cost function.
(5) If the marginal revenue of a firm is MR= 9-4x2, find Total Revenue R, Average
Revenue AR, Demand function

UNIT 2. POISSON DISTRIBUTION AND HYPERGEOMETRIC DISTRIBUTION

(1) State Properties and Uses of Poisson distribution
(2) State properties and uses of Hypergeometric distribution.

(3) The probability that a match stick is found without head is 1—(1)0. Each match box contains

50 sticks. Using Poisson distribution, find the percentage of number of number of boxes
having 0, 1, 2 sticks without heads. (e‘°'5 = 0.61)

(4) In the production of electric fuses 2% are defective. Find the probability of getting ( i) all
non-defective fuses in a box containing 200 fuses. (ii) at the most 2 defective fuses (iii) 3
defective fuses. (e * =0.0183)

(5) In one hospital 3 percent of the patients demand special rooms. On a particular day 3
special rooms were vacant. If 50 patients were admitted in the hospital on that day. Find

the probabilities that (i) no patient demanded special room (ii) the demands for special
room were not met. (e~ =0.2231)

(6) xis a poisson variate such that P (x = 3) = P(x = 4), prove that P(x = 3)=8e™*.
(7) xisa poisson variate such thatP (x = 0) = P(x = 1) = k, prove that k=£.

(8) The number of mistakes commited by a typist in typing 100 pages are as follows. Using
poisson distribution, find the expected frequencies.

2



Number of mistakes per page 0 1 5 3 2 5 .
Number of pages 42 33 14 |6 4 WA
(e 1 =0.368) | ;\

(9) There are 5 red and 7 white balls in an urn. 4 balls are taken one after the other froril_ti_;t.._\ nd-
the probabilities of getting QD

(i)2 white and 2 red balls (ii) all balls of the same colour.

(10) There are 40 screws in a packet of which 5 are defective. If 10 screws are taken at random
from the packet, find the probability that none of them is defective. Also find mean and
variance of defective screws.

(11) 3 cards are drawn at random from a pack of 52 cards. Find the probabilities that (i) all the
cards are of spade (ii) all are aces.

UNIT 3: PROCESS CONTROL TECHNIQUE (SQC)

(1) Discuss the causes of variations in a production process

(2) Give difference between the charts for variables and charts for attributes.

(3) Give difference between p-chart and np-chart

(4) The following table gives mean and range of 10 samples each of size 5. Draw X and R Charts

and state your conclusions.

Sample | 1 2 3 4 5 6 7 8 9 10

No.
X 43 49 37 44 45 37 51 46 43 47

R 5 6 5 7 7 4 8 6 4 6

(A, =0.58,D; =0,D, = 2.11)

(5) Draw p-chart for the following data, and give your findings about the stat of control.

Date 1 2 3 4 5 6 7 8 9 10

No. of 50 50 50 50 50 50 50 50 50 50

items

inspected

No. of 4 8 2 0 1 2 12 8 0 3

defective

items

(6) Daily 15 machines are tested in a factory. The number of defects are given below.

8,10,11,15,37,12,13,12,9,21,23,34,11,10,14 Draw C-chart and give your comments.

UNIT 4: LOT CONTROL TECHNIQUES(ACCEPTANCE SAMPLING)

(1) What is acceptance sampling? Explain its importance

(2) Explain single sampling plan

(3) Explain Terms : AQL, LTPD, PRODUCER'’S RISK, CONSUMER’S RISK, ASN, AOQ, ATI

(4) For a single sampling plan (100, 10, 1) AQL = P; = 0.02, find producer’s risk.Also find
ASN, AOQ, ATI

(5) Draw an OC chart for a single sampling plan (100,20,1).

(6) Draw an OC curve for the plan (1000,50,2) . From the graph find producer’s risk and
consumer’s risk if AQL= 0.06 and LTPD = 0.14
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)

Sub: JLSSLAUB (282l HitaN)

Y2 1: AsAot Aol Aol GUDN
(1) AUscol AeA 9? dell 201 e,

(2) Rad AsEot cluURd 5. Aol ARl s ud.

3) ol Asttell BHA 0.

(xi)  [f(3x*+ 4x3 —5x% + 3x)dx
(xii)  [(x? —1)%dx

(xiil) [ (3vx+5+2)dx
(xiv) [2* +%e_x +§—
xv) | (z—;;) dx
(xvi) | Zz:: dx
(xvii) f;(xz +x — 1)dx
(xviii) f_ll(Zx2 — x3)dx
(xix)  f; x(1—x)dx
(xx) fos ﬁﬁﬁdx
(4) WAs didell x AsHle] GUlEat scll MR AHlodt WA (AU 6 +10x - 6x2 B.A ddoll A
AsHoll Ase] 5 Geuleot WA 12 3. B Al set Wl (AR wal AR WA (AR 0.
(5) % 565 As VUSlo] AlHict WHeLoll (AR MR= 9-4x2 8o A, $&t WHEL{l RURAA MUHEL{l
U HL] (AR M.
Y[le 2. WUt (A0l Ua wAloElR [Acra
(6) WUt [Ac0letl caell wal GuAN ¥l
(7) AUAIRNR (A0l @l A GUAN Rl
(8) €lawoll Handlatiell slatsll %{e{tqm% 8, elatollell e25 VML 50 elauollA B, Wt

(Actrutell Gualol s3lal Hiacllotioll 0, 1, 2 Eleanao{lA Slat Al WERALA estadl 0.
(e™ %5 =10.61)
(9) SAsEls % oll Beulestil 2 25l 52 ajsalellatnt 8l dl 200 syasell AWs WML (1) wley

$405 URL &laltell (2) ayHi ay 2 %433 ofstellaton ool (3) 3 %% ajsalellaion dlausll
delcotl WU, (et =0.0183)

(10)As SRASAHL EMHA AUl €ERAHL ARA2 3 251 €[ WAlauct 3ue{l Hidwll 52 8.5 Us
o sRUecHl 50 e€lllal el sclMl Ad B wal A (tad 3 W elact 31 vl sladl
(1) 8165 uel €l Ml 31oll Hidwll 5 «18l. (2) Wt 3l Hdtal uslAL sl «1dl
de{l eucstl . (e™15 =0.2231)

(11)x A5 YaAdol UA B BHL P(x =3) =P(x = H)B. Al AUAd A3 P(x = 3)=8e™*.

(12) x A5 Qaddet AA D BHUL P(x=0)=P(x=1) =k, B. A AAd 5A}¥ k=§.

(13) As aFUlRaSU 5cL 100 Ueltdl Wellles sl gl oA yud 8.a Guell
Wadst [QcRaell Heeell ¢l dvaull 1R wUelld uigA 0.

1

%dx
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Uetl(Es ecllefl vl 0 1 2 3 4 e E
Ylello{l vl 42 33 14 |6 4 e/

(e!=10.368) W\
(14) W8 SGOUHL 5 Alet Ul 7 UFE €51 B AMiedll As ugl As 4 €5 AaHl A A\

(1) 2 AULA B 2 AFE €51 lal ol (2) Gluly €SI Ws Vol flaA doll Aedctall T i
(15) As UyeHi 40 5 B, FHL 5 5 Willato ©. 1 A UyeHidl aew 3d 10 3y AaHl wad
Al Ml As Ul 5 WiHlawnl of &l dell dewaett WA.GURId Wilawnl g ol Heas
Wal (Quel ANl
(16) 52 Uxllell SlsHidll aew A 3 udl Aadl AaAd A (1) 20 ucdl stoflatl sla (2)
AU Asst sl Aol Aewastt 0.

Ylle 3:ulsa [aiawl ueuld
(17) Geuleat YlsaHi dulcidiotl Ucstotl 51006l wUl 5.
(18) AAALMHS WMAW Wl IJRUHS AW AR AU,
(19) p- AW Ao np-UAW AR dslald Rl
(20) €35 Ui AsH dla dal e [(AeglHiell [Aedl Heas wa (AR ofl (BHA oA YA HA B,
U9 A [ArclRell (A2l AU €13l Gauteatyslaletl Qe (A (el dRal.

[@esl sH 1 2 3 4 5 6 7 8 9 10
x 43 49 37 44 45 37 51 46 43 47
R 5 6 5 7 7 4 8 6 4 6

(A, = 0.58,D; = 0,D, = 2.11)
(21) o0l Al H(EAlol GuoL 531 p- AW 1A A AHIRL ARBN R

APl 1 2 3 4 5 6 7 8 9 10
Aawcll arell | 50 50 50 50 50 50 50 50 50 50
AvAl
wlleuoll argell | 4 8 2 0 1 2 12 8 0 3
AU

(22) A5 SIRULAUHL €A% 15 HAoll el el 8, adioll wiHlA oA vuatdl wudl 8.

8,10,11,15,37,12,13,12,9,21,23,34,11,10,14 il Gu2[l C- AW €L Ul dAHIRA ARLN ULl
Ylle 4: szl AR usld( Raga Reeda)

(23) RAgA [Aedlot Ae@ 9?7 Astl GUAL U,

(24) A5 ([Ae ot Aosell (AA UMl

(25) UEL UMl : AQL, LTPD, GAULE Soj SIWHH, JUESa] MM, ASN, AOQ, ATI

(26) AslAelot Aogoll (100,10,1) M AQL = P} = 0.02, dl GAULESoj Sl 2L GURLc ASN,
AOQ, ATI uBL 20t

(27) AslAe ot Axatl (100,20,1) HIZ OC ads ERL.

(28) AslAe ot Aol (1000,50,2) M2 OC s €. AQL= 0.06 A LTPD = 0.14 &l cll MAW

GURYUL Geule o] BIHH ol JULs 5] v 2.
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Cost and Financial Accounting (English Medium)

NOTE: All Questions Are Compulsory

1. Discuss the features of Process Costing. Which industries use Process Costing?
2. Write a Short note on:
a. Joint products and By-products
b. Normal and Abnormal loss
c. Abnormal Loss and Abnormal Gain
3. The production of Sam Manufacturing Company Ltd. Passes through three processes before it
is transferred to finished stock. The following information is obtained:

£

Particulars Process-1 Process-2 Process-3

Raw Material input (at Re.0.60 per unit) (Rs.) 6000 - -
Raw Material added (Rs.) 8500 9500 5500
Direct Wages (Rs.) 4000 6000 12000
Direct Expenses (Rs.) 1200 930 1340
Normal Loss (percentage of input) 10% 5% 10%
Sale Value of Wastage (per unit Re.) 0.20 0.50 1.00
Actual Output units 9200 8700 7900

Production overheads were Rs.16,500, which are absorbed as a percentage of direct
wages. From the above information, you are required to prepare Process Accounts and
Abnormal Wastage or Gain Accounts.

4. A product passes through three different processes, before it is transferred to Finished stock. The
following information is obtained for the month of January:

Particulars Process-1 Rs. | Process-2 Rs. | Process-3 Rs. | Finished Goods Rs.
Opening Stock 40000 50000 100000 200000
Direct Materials 80000 160000 300000 -
Direct Wages 50000 70000 200000 -
Production overheads as a 20% 25% 20% -
percentage of the prime cost of the

process

Closing stock 20000 60000 200000 100000
Profit percentage on transfer price 10% 12.5% 13.6% -
Inter-process profit of opening - 10000 18750 70000
stock

Stock in the processes are valued at prime cost and finished goods are valued at a price, at which
it is received from Process 3. Sales during the period were Rs.20 lakhs. You are required to
prepare:

(A) Process Accounts and Finished Goods A/c showing profit element at each stage

(B) Statement of Actual realized profit.

(C) Stock valuation for the purpose of Balance sheet.

5. Kamal Ltd. Furnishes the following data in respect of Process No.1 for March 2018:
1) Opening stock of Work-in-progress 3000 units at a total cost of Rs.15000.
2) Input of materials 30000 units at a total cost of Rs.90750.
3) Directlabour incurred Rs.109200
4) Production overheads Rs.53100
5) Units Scrapped 3750.
6) Closing stock of Work-in-progress ?? units.
7) 27000 units were completed and transferred to the next process.
8) Normal loss is 10% of total input (Opening Stock + Units introduced).
9) Wastage is sold at Rs.2 per unit.



10)Degree of Completion:

Particulars Opening Stock Closing Stock Abnormal wastage//
Materials 40% 80% 100% e,
Labour 50% 60% 100% |
Overheads 60% 40% 100% N\
Prepare: T

(1) Statement of Equivalent Production (as per FIFO method),

(2) Statement of Cost,

(3) Valuation Statement,

(4) Process Account.

6. Write Short notes on:
(1) Absorption

(2) Intrinsic Value of Share
7. (1) Write a note on Five Conditions to be satisfied for Amalgamation of Companies in the form

of Merger as per AS-14.

(2) Explain the Amalgamation, Absorption and Reconstruction of Companies.

3k skook sk ok ok sk ok sk ok ok ok sk skok sk k



SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)

Sub: Cost and Financial Accounting (QL%’QL(‘[I HIRAN)

NOTE: All Questions Are Compulsory

1yl usdR ugld sl GalolHl cd] ud 82 doll ctat@sdllell uul sA.
2.35 ol Al
a. Y5l UELA Aol GU-UELL
b. UL HLe Al WAUHLeA HIUS
C. UM GLOUS Al UM ALGL
3. AU dl. of Geutgol dar US OUSIGaAHl ol Udel 2l YlsauHiell uAR Al 8. Geulest Bid\
ol Aoll HBEA 1A B:

(Qatdt wEa -1 |- |l -3
el sct AL (AsHELS 0.60 AW ) (3M21) 6000 - -

LRl HIAUMLt (32w 8500 9500 5500
Alell Hy?l (3M@au) 4000 6000 12000
yetel vl 302 1200 930 1340
AHLRL OUS (ELHA S AsHLoll) 10% 5% 10%
UM oloUsell AsuEls Bluey (R 0.20 0.50 1.00
WRWR GeUlEotoll AUsH 9200 8700 7900

Geuleot [QRAUI WAl 3.16500 &ctl, B €25 Ulsal vitd AL Hoylotl YHIQHL slaclcllell 8. GURell
IR A uRell ylBaullotl WLl Aol WAUHLoA WIS ¥ ctlRAell Mldl dAlR 53,
4,05 clrg daAR Ul Udcl AQL yel-el Ulsul Higll R A 8. ostofalldl Hdell 12

o(1Asll (Aol HA B:
(Qotet yBa-q 3) | WBa-: @) | WBa-3 @) | dar HdHd Rs@3.)
A3ullcloll R\ 40000 50000 100000 200000
YcA&l HIAAHLoL 80000 160000 300000 -
yerel U3l 50000 70000 200000 -
yBaell wals usdredl estadl 20% 25% 20% -
AW Geutget QAU wal
Dazol w8 20000 60000 200000 100000
$0ecll (BHA GUR otgloll estaldl 10% 12.5% 13.6% -
ARullctoll WRASHL UidR-ylsl o8 10000 18750 70000

Yl wse] yealisol YaMs UsdRell A Al & el dalr Hide] Yelisel , % (Buad a
ylBal ol 3uiel HA B A WA L B, WA A1 eM2lots] AUWQL .20 AW &, dHR oA

Yool UAs AU Widl dlR s:cllall B
(A) €35 sy ol§l ealclcl Ulsaloll Mldl Al duR HIAsll @S] Vld.
(B) WRUWR HAA o8l ealad uas
(C) Wsl URAlell & M2 R2\Se] YRS,

8




5. sUA Al dHal YBa-1a aatdl 1l roacell oAl mddl Yyl ud &:
1) A3ulcdoll A daur Hid 3000 AsH, Boll USAR 32.15000 B.
2) §A 2.907500(l USAR (EHA elA st MMl A5 30000.
3) yctet Hoy3l wal 3(ai.109200
4) Geulgat URet Wl 3002.53100
5) ooUSetl WsHL 3750.
6) LR A daulR Hid 2?7 AsHL
7) 27000 WsH dAR U2l B B Udloll ylsauml xsctctHl e 8.
8) AULHLeA GloUS A EHUA S AsHIoll 10% O, (Aol RS + EIHA S A sH)).
9) waUsell Al (B AsHELS 3.2 B.
10) yelctoll seu:

@Qotct A3l s UlHRell 28 VALHLRL 6LIULS
HIARU ML 40% 80% 100%
).@/ﬂ 50% 60% 100%
w3t wal 60% 40% 100%
daR sA:

(1) yal Asile] unts (FIFO Usldotl 2UUR),
(2) USclRe] UAS,

(3) LSl U,

(4) lsale] wid.

6.5 ol AUl
(1) 1Al
(2) Are] UidRs Yeau

7.(1) &5 olltl cull: ([QellollsRul zuotl A6t Mol Ui 2Rl (Btloll HNREL-14 BofAR SRUAL
(2) $Uslllloj AANsot, AMLAL A Yot: Al AU

% K %k % % Kk k %k *



SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: English & CC (Both Medium)

NOTE: All Questions Are Compulsory

Q.1 Write a detailed note on the following topics.

1. Title of the story, “The Last lesson"
2. The People's attempts to catch the Cobra.
3. The author's journey from Malden to Hampton

Q.2. Write press report on the following topics.

1. Train Accident
2. Flood
3.100 Died in Malaria Outbreak.

Q.3 write letters on the given topics.

1. Write a letter to insurer to the change the name of nominee.

2. Write a letter claiming medical reimbursement on the mediclaim
policy.

3. Draft a letter to life Insurance Corporation of India LTD. Asking
information for life insurance policy.

kkskok ko sk ok sk k sk sk kok sk sk k
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Business Law assignment (English Medium)

NOTE: All Questions Are Compulsory

XL

UNIT-1

1. Define Contract and State the Essential Elements Of a Valid Contract.

2. Define Minor and discuss the provision relating to the “Agreement by and with Minor”.
(under the Indian Contract Act)

UNIT - 2

1. Define Consideration and “Agreement made without Consideration is void “Explain with
exception.

2. Explain “Anticipatory Breach Of Contract” (with case laws)

UNIT- 3

1. Explain about “Anti-Dumping Duty of Customs”
2. Describe in detail, CENVAT’ and ‘CENVAT CREDIT’(under Custom Act)

UNIT - 4

1. Define ‘sale’ and ‘Agreement to Sell’ and state 7 differences between them.

2. Explain “Doctrine Of Caveat Emptor”with Exceptions.

kokskokokok sk sk sk sk sk sk k ok sk sk k
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)

Sub: Business Law assignment (Ol%?lcﬂ HIRAN)

NOTE: All Questions Are Compulsory

Unit 1

1. SIUEUR SARCL WLAUS dedl wQLLdl.
2. AARedl vy W], MRl sARIRL Wedd 1226 (@s1a1aLe) QL.

Unit 2

1. 3A%ei] e [udl W], "% ddlRet] $U LA D" | [eddHeA L ULE] QLI
2. Yd(eld 52126491 (A9) yHomdl.

Unit-3
1. sula (a1l SyZl quesaly
2. Aeide Wal Veide 3(Se (Al UHewldl.

Unit - 4
. 'AYLQL " W QY IRLe] YUl vl MU, d i ) dslad Ll
"W3lest R Aldtdlel " ofl (A (MUdle) A1 ).

(U

N

% K %k % % Kk k %k *
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SHRI K.K. SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Management Accounting-1

(Both Medium) P

NOTE: All Questions Are Compulsory
1. Explain the difference between Management accountancy and financial accountancy.
RiaAdsla Baell ugld ua seuslal Bl uglell dstad wHesdl.)

2. Explain the difference between Management accountancy and Cost accountancy.
RRUASA Baoll ugld ua usdR Baell usQell dstad duesal)

3. Explain the Usefulness and limitations of management Accountancy.
(RlRuesla @Eaoll ugl@oll Gualolldl ual Halel uHAL)

4. Prepare Trend Percentages Statements from the following Balance Sheets:

Particulars 31-03-2019 31-03-2020 31-03-2021
(Rs.) (Rs.) (Rs.)
Equity and Liabilities:
Shareholders fund:
Share Capital
Equity share capital 1400000 1600000 1700000
Reserves and Surplus:
Profit and Loss Account 550000 600000 560000
Non-Current Liabilities:
Long term Borrowings
10% Debentures of Rs. 100 each 300000 290000 270000
Current Liabilities
Tarde payables: Creditors 270000 260000 250000
Short Term Provisions:
Provision for Taxation 150000 170000 250000
Total: 2670000 2920000 3030000
Assets
Non-Current Assets
(i) Fixed Assets 1500000 1700000 1800000
(ii) Intangible Assets
Goodwill 100000 90000 80000
Current Assets
Inventories: Stock 300000 200000 350000
Trade Receivables: Debtors 370000 380000 390000
Cash and Cash Equivalents
Bank Balance 400000 550000 410000
Total: 2670000 2920000 3030000

o{lA AU Utst ddal Wl ddl e2ladl estatdlett uasl daR s2A:

[Qotct 31-03-2019 31-03-2020 31-03-2021
(Rs.) (Rs.) (Rs.)

BEA8L el wllolel3RAL:
ERCELNIRN

NEIFRE
8EA4 A=y 1400000 1600000 1700000

UollHd A AU

13



o §l-of slal Uﬂ‘i 550000 600000

(Qot-21ef Eal:

dlolonotetl Geletl st

10%eil (3AUR €35 32l 10001 300000 290000

AG el

Auidl tat ARELL 270000 260000 250000

gstoluell ot

52AR1e(l RoLaleSull 150000 170000 250000

5L 2670000 2920000 3030000

AasA

@ot-ug MAesA

(i) steil AetsA 1500000 1700000 1800000
(i) wWs2d MAcsA
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U AasdA

HlAUHIL: 2 300000 200000 350000
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Ass Aol AsS AMlal :

ds Rcs 400000 550000 410000

scl: 2670000 2920000 3030000

5. From the following information of Manav limited prepare a cash budget for the three months from June

to August 2021:

(1) Cash and Bank balance on 1-6-2021 is Rs. 87000

(2) Other information

Month Total Sales Purchases Wages Overhead Expenses
(Rs.) (Rs.) (Rs.) (Rs.)
April 870000 435000 174000 130500
May 652500 391500 156600 108750
June 942500 478500 208800 152250
July 1305000 696000 217500 174000
August 725000 348000 182700 130500

(3) Assume 40% of total sales are cash sales and 60% of credit sales.

(4) 50% of credit sales are realized in the month following sales and the remaining 50% in the next

month following.

(5) The period of credit allowed by the supplier is one month.
(6) The time lag in payment of overhead expenses is %2 month and the time lag in payment of wages

is one month.

Hiotel Al ofl ollA WAl Qatcdl uRel getell 20106,2021 Yellotl QL U] ASS 6B GlollAl:
(1) cl.1-6-202101l A% AsS W s RAAS 3.¢9000 8.

(2) Aot HIRA

LA §CL AR wilel LS| wla Wy
(Rs.) (Rs.) (Rs.) (Rs.)
April 870000 435000 174000 130500
May 652500 391500 156600 108750
June 942500 478500 208800 152250
July 1305000 696000 217500 174000
August 725000 348000 182700 130500
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(3) §G ARAGLGL 40% ASS AURL AR 60% GUlR AUBL UlR. Vs
(4) GUIR AURlell 50% AARL Uloll H(@attii wal olisletl 50% ollost Heatl aya Haf @

B
(5) QUWIRAA AUAA el dUoN 1 H(ssllall B. Q‘

(6) 3l Ysalcllol AHAU As H(Eall wal UAet WAL Yselalloll AHAU % Hidell 9

6. The data regarding selling expenses of Riyadh Co. Itd. For the year 2020 are as below:

Expenses Dang Kachchh Kheda Total

(Rs.) (Rs.) (Rs.) (Rs.)

(1) Advertising 2900 3625 1450 7975
(2) Warehouse expenses 5800 7250 4350 17400
(3) Commission on sales 11600 8700 10150 30450
(4) Salaries 5075 5800 3625 14500
(5) Warehouse Salary 10150 11600 8700 30450

(6) Rentand rates 1450 2900 1740 6090
(7) Selling Expenses 8700 11600 5800 26100
Total: 45675 51475 35815 132965

During the year 2021 budget period, the following changes are to be allowed:

(1) Commission in each area is to be increased by 6%.
(2) In the Kheda area advertisement expenses will increase by 10%.
(3) Rent will decrease by 10%.
(4) Total salaries will increase by Rs. 435, Rs. 580 and Rs. 290 in all three areas respectively.
(5) Warehouse salary in case of Dangs and Kheda will increase by 8%.
You are required to prepare the selling Expenses Budget for the year 2021.

Aaed suell dl. ol QUL Wlell 20200t viesustoll ([Qatdl ollA Yoot cll:

wle{l (Qotc stat %9 Wsl sc

(Rs.) (Rs.) (Rs.) (Rs.)

(1) Advertising 2900 3625 1450 7975
(2) Warehouse expenses 5800 7250 4350 17400
(3) Commission on sales 11600 8700 10150 30450
(4) Salaries 5075 5800 3625 14500
(5) Warehouse Salary 10150 11600 8700 30450
(6) Rentand rates 1450 2900 1740 6090
(7)_Selling Expenses 8700 11600 5800 26100
Total: 45675 51475 35815 132965

202141l a HRq] WELWUA Glolleldl ol Aotl FRH1A Lt Acllall B:

(1) €38 YZAML 5(2lctoll EHL 6% <t U3

(2) WSIHL @A WAHL 107 a2l

(3) QUSLHL 10%all Yalsl U

(4) 20l YEAHL G UIURHL WafsA 3. 435,3. 580 3 3. 29000 Al U3

(5) SloL U WSloll ANSLGet sUR AL UIURHL 8%l cAtlR scllall B.202101l a HiRq]

AURL We] ELUA dAR 5.
7. The Balance Sheet of ‘Alisha Ltd.’ is as under as on 31-03-2019.

Liabilities Amt Asset Amt

Equity Share Capital of Rs. 10 each 1000000 Land and Building 1260000
10% Pref. Share Capital each of Rs. 100 400000 Plant and Machinery 700000
Reserve and Surplus 700000 Furniture 100000
10% Debentures 500000 Investment (Short-Term) 200000
Creditors 240000 Closing Stock 200000
Bills Payable 40000 Debtors 460000
Bank Overdraft 180000 Bills Receivable 60000
Cash and Bank Balance 60000
Preliminary Expenses 20000

Total 3060000 Total 3060000
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The Profit and Loss A/c of “Alisha Ltd.” year ended on 31-03-2019 is as under:

Particulars Rs.
Sales (Cash sales are 33 1/3 % of the credit sales) 8000000
Less: Cost of Goods sold 5600000
Gross profit 2400000
Net profit (before interest and 50% tax) 900000
Less: Debentures interest at 10% 50000
Rs.
Sales (Cash Sales is 33 1/3% of the credit sales) 8000000
Less: Cost of Sales 5600000
Gross Profit 2400000
Net Profit (before interest and 50% tax) 900000
Less: Debentures interest @10% 50000
850000
Less: 50% taxation 425000
Net Profit after interest and Tax 425000
Credit Purchase Rs. 5500000
Opening Stock Rs. 300000

Compute the following ratios: (on the basis of 360 days in a year)

1) Current Ratio

2) Liquid Ratio

3) Net Profit Ratio

4) Stock Turnover Ratio

5) Debtor’s Ratio

6) Creditor’s Ratio

7) Rate of Return on Capital Employed

(A2 (A, of cll. 39-03-202¢ ol A% of UG U ol A Yoxe B:

gl L3l 3. RAasA 3.

858l ARy €25 3.0 «ll 1000000 | oa{lot A UsLol 1260000
10% Q8. ARHS| €38 3.400 oll 400000 | AL ua A 700000
WollHct AR Al 700000 | gl{u? 100000
0% oll (3AeuR 500000 | QAstel (2sLauouetl ) 200000
REER 240000 | R 218 200000
cllgdl 40000 | 2oueld 460000
REEMEENEY 180000 | AQgllgslAl 60000
Ass wa dsRcs 60000
yla@s wal 20000

Total 3060000 sct 3060000

cl. 39-3-209.¢ ol A% YR Udll ctlg] algl-ofsulot viqg oA Yru B,

3.
AAURL (A5S AARL BULR AUl 33 1/3 %) ¢000000
WlE : AAA Mol USSR US00000
slA ol ¥00000
AV o1 8l (CUL%Y UA U0% $AA VSl ) ¢00000
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WLE : 10% ol (3ARUR UR call U0000
¢U0000

GLE : U0% $ARL ¥U000

Al o1 §l (1% B AR Uedlall ) ¥U000

GuR Wilel: 3.

A3Wlcetl 218 : 2.300000

5500000

o{l Aot 9BNHR QN (360 (M A witllat)

) AE ILRNTR

) Yl 9B0R
3) Avul ol $lell 9JBNR

¥) RS UL €

R

W) gallelAall 9RltR
) QARLERLeA 9JRNTR
9) ASLRAA HI UR dnctell €2

1) The following are the balance sheet of Niyati Ltd. as on 31-3-2019 and 31-3-2020.

Liabilities 31-3-2019 | 31-3-2020 | Assets 31-3-2019 | 31-3-2020
Equity Share Capital 600000 800000 Goodwill 230000 180000
10% Red. Pref. Share Capital | 300000 200000 Land and Building | 400000 340000
General Reserve 80000 140000 Machinery 160000 400000
Profit and Loss A/c 60000 96000 Debtors 320000 400000
Creditors 110000 166000 Stock 154000 218000
Bills Payable 40000 32000 Bills Receivable 40000 60000
Provision for taxation 80000 100000 Cash and Bank 50000 36000
Proposed Dividend 84000 100000

Total 1354000 1634000 Total 1354000 1634000

Additional Information:
1) During the year 2019-20 depreciation written off was Rs. 20000 on machinery and Rs.

60000 on Land and Building.

2) Interim Dividend paid during the year 2019-20 amounted to Rs. 40000.
3) Taxation paid during the year 2019-20 was Rs. 70000.

From the above information, prepare the Cash Flow Statement as per Accounting

Standard No.3.

[Au(A (A o1l cll. 33-3-209¢ Wal cll. 31-03-02001l ULsL AUl ol A Yool B:

galloleldlall 31-03-1¢ | 31-03-20 | Metsdll 39-03-1¢ | 31-03-20
¢. QA2 33l S00000 ¢00000 | wusl 230000 1¢0000
10% Ug. AR H3l 300000 200000 | Hlot Ul Hslot ¥00000 3¥0000
AL ot H ¢0000 1¥0000 | A 150000 ¥00000
ol§l- ojsUlot Wiq S0000 ¢$000 EAERL 320000 ¥00000
AQLel 110000 155000 | s 1U¥000 R4¢000
gcllgsla ¥0000 32000 AgllgslAl ¥0000 $0000
gl Wloteues ¢0000 100000 | AsS WA Al 40000 35000
YRAABllses ¢¥000 100000

13U¥000 | 153%000 13U¥000 | 153¥000
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atiell Rl

1) 201¢-20 Y e 2ot 2 Wal AHlot - Hslel UR AajsA 3. 20000 A 3. 50000
SRARAHLSL clloeHi veA sl

R) 09¢-20 a €Ml cudUNLe (Scllses 3. ¥0000 YsalallHi wice] &d.
3) 209¢-R0 M €026t 3. 90000 ARG YSClelHi LU &cll.,

GuRell Bl uell Bauell €021 - 3 Yool AsS Yl UAs dulR 53

% 3k 3k 3k 3k 3k 3k k k
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SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE

MANINAGAR, AHMEDABAD
B. Com Sem-5 Assignment (Academic Year: 2023-24)
Sub: Marketing Management in Practice

(Both Medium)
NOTE: All Questions Are Compulsory

Q-1) What do you mean by Retailing? Discuss the various types of Retailing.
925 AURL WA 7925 AUReL (AU ysRlell uAl 53

Q-2) Discuss the main activities of Retailing.

925 AARLell Y ygA (@ 24l 52,

Q-3) Write a brief note on: Position of Retailing in India.

&5 ollt : eRAM ©es AuRell RAM .

Q-4) Discuss the advantages and limitations of a Case Study.
35U RSloll LA Aol HaleRA{l uAl 53

Q-5) Discuss the guiding principles to make Case Study effective.
33U 2 Slol WUARBBRS olollaall HIZetl Hdledls Raicdlell Al 3.

Q-6) Discuss the four components of CRM.
AULES Aol AAUAstall CRM AR Yslo(l Aul 83U,

Q-7) Explain in detail significance of order selection and customer selection.
U8R UM wal Aes UEINo] Heel (A AH Al

Q-8) Discuss in detail the rural marketing environment.

a{lel HiBRat vallarulell (Qrgd uul 53

Q-9) Discuss the challenges and solutions of delivering value in rural market.
allel wesRul Yol WuRlletl UssiR wal G3clell uUl s

skskskkkoksk sk sk sk sk kskokskskk
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